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@oin Telegram- Maths by Aditya RanjaID

RACE /nkM

(CLASSROOM SHEET)

CoMMON STATEMENTS USED IN
RACE BASED QUESTIONS

nM wkZkfjr 1°uk e 1;0r Rkekl; dFku

In a race of 1 km, A beats B by 100 metre.
1 fdeh dh nkiv e A, B dk 100 envj d wvrj I gjkrk

gh
<4 100 m —p
° o |
B A
A B A:B
1000 m 900 m Speed 10 : 9
T T

In a race of 1 km, A beats B by 10 sec.
1 fdeh dh nkM e A, B dk 10 IdM . d wvrj I gjkrk gh

I x I
B A
A B A:B
1000 m 1000 m
T (T + 10) sec.

In a race of 1 km, A can give B a start of 100
metre.

1 fdeh dh niM e A, B dk 100 efVj dh *kz vkr nrk g

<4+—— 100 m —» A, B
o ® I
A B
A B
1000 m 900 m
T sec T sec

A can give B a start of t minutes : This statement
implies that A will start t minutes after B starts
from the starting point.

A, B dk t'feuV dh "kzwvkr nrk g % bl dFu dk vk
g fd "kzwvkrhefcin 1 B d t feuV ckn A "k- djrk gh
In a race of 1 km, A gives B a start of 150 metre
and still wins by 10 sec.

1 fdeh dh nkM e A, B dk 150 efVj dh “kzwvkr nrk g
vkj fiQj Hh 10 1dM d vrj 1 thr thrk gh

<+«— 150m—»

® * * |
A B B A
A B

1000 m 850 m

T sec (T + 10) sec
Dead Heat : A dead heat situation is when all
participants reach the finishing point at the
same instant of time.

MM gV ,d ,Ih flRfr g fetle, BHN0 ifrHkxh vr fcln
ij ,d gh le; ij igprgh

EXERCISE

1.

In a 100-m race, A beats B by 20 m and B

beats C by 20 m. By how much distance does

A beat C.

100 m dh nMe A, B dk 20 m 1 gjkrk g vij B, C

dk 20 m I gjkrk gb A, ¢ dk fdruh njh 1 gjkrk g\
SSC CGL 02/12/2022 (Shift- 03)

(a) 64 m (b) 24 m

(c) 25 m (d) 36 m

In a 1500 m race, Anil beats Bakul by 150

m and in the same race Bakul beats Charles

by 75 m. By what distance does Anil beat
Charles?

1500 m dh nkM e] vfuy u cdy dk 150 m |
gjk;k vkj mIh nkM e cdy u pkvlk dk 75 m |
gjk;h vfuy u pkvl dk fdrun njh 1 gjk:k g\
SSC CGL 01/12/2022 (Shift- 01)
(a) 217.50 m (b) 200.15 m
(c) 293.50 m (d) 313.75 m
In al500-m race, if A beats B by 100 m and B
beats C by 150 m, then by what distance (in m)
does A beat C?
1500-m di nkiM e ;fn A, Bdk 100 m 1 ijkLr djrk
gt vij B, ¢ dk 150 m | ijiLr djrk g] rk A, c dk
fdruh njh (m e) 1 ijklr djrk g\
SSC CHSL 03/06/2022 (Shift- 2)
(a) 140 (b) 150
(c) 100 (d) 240
Acan beat B ina 100-metre race by 10 metres.
B can beat C in a 100-metre race by 10 metres.
What is the ratio (t, : t, : t ), which are the

respective times taken by A, B and C to
complete the race?

Aditya Ranjan (Excise Inspector)

(Selected g Selection fnyk,x




@oin Telegram- Maths by Aditya Ranjalg

A 100 ehVj dh nkM e B dk 10 efvj I gjk Idrk g
B 100 efVj dh niM e c dk 10 efvj I gjk Idrk g
vuikr (¢, : t; = t) D3k g] & nM dk 1jk dju d
fy, A, BVkj € Jjk fy;k x;k Ict/r le; g\

SSC MTS 07/07/2022 (Shift- 1)
(a) 100 :90 : 81 (b) 90 : 81 : 100
(c) 100 : 81 : 90 (d) 81 :90: 100
In a linear race of 500 m, A can beat B by
50 m and in a race of 600 m, B can beat C

by 60 m. By how many metres will A beat C
in a race of 400 m?

500 m dh ,d j[k; nkM e] A, B dk 50 m |
gjk Idrk g vkj 600 m dh nkM e B, ¢ dk 60
m | gjk Idrk gf 400 m dh niM e A, ¢ dk
fdru efVj 1 gjk,xk\

SSC CGL 08/12/2022 (Shift- 03)
(a) 70 (b) 68
(c) 76 (d) 72
In a 1200 m race, bike A beats bike B by 100
m. Bike B beats bike C by 100 m in a 600 m
race. If bike A beats bike C by 30 sec in a
720 m race, then what is the speed of bike C?

1200 m dh nkM e ckbd A, ckbd B dk 100 m
I gjkrh g 600 m dh nkM e ckbd. B, ckbd ¢
dk 100 m 1 gjkrh gi ;fn ckbd A 720 m dh
nkM e ckbd c dk 30 Id:M"1 gjk nrh g] rk
ckbd c dh crk,A

SSC CGL 03/12/2022 (Shift- 01)

Hm/sec b Em/sec
(a) 5 (b) 5

Hm/sec d Em/sec
() (@ 3

2
Ais 15 times faster than B, A gives 60m start

to B in a race find the length of race if both
finished race at same time.

A, B dh.ryuk e lgxuk rt g A,dniMe B

dk 60 ehVy dh “k#vkr nrk g] ;fn nkuk ,d gh
le; e nkM Tjh djr g rk nkM dh yckb Kkr dj
(a) 90 (b) 150

(c) 120 (d) 180

In a 500m race, ratio of speed of bobby & Lala
is 3 : 4. If bobby has a start of 140m. Then
bobby wins by?

500 ehvj dh ,d nkM e ckeh rFkk ykyk dh pky
dk vuikr 3 % 4 g ;fn ckeh d ikl 140 envj dh
"#vkr g rk ckeh fdru envy I €hrxk\

10.

11.

12.

13.

(a) 15 (b) 20

(c) 30 (d) 25

Geeta runs 5/2 times as fast as Babita. In a
race, if Geeta gives a lead of 40 m toBabita,
find the distance from the starting point where
both of them will meet (correctup to two
decimal places).

xhrk] cchrk 1 502 xuk rt nkMrh gh ,d jl e]
;fn xtrk] cchrk dk 40 efvy dh c<r nrh g] rk
ikjfHkd fcn 1 ml fcn rd dh njh Kkr dift, tgk
o nkuk feyxh (n*keyo d ckn nk LFkkuk rd i.kfdr)h

SSC CPO 10/11/2022 (Shift-01)

(a) 66.67 m (b) 65 m

(c) 65.33 m (d) 66 m

If the ratio of speeds of A and Bis 5 : 6 and
B allows A a start of 70 meters in a 1.2 km
race, who will win the race and by what
distance?

A vk B dh xfr dk"vuikr 5% 6 g vk B 1.2
fdeh dh nkM. e A dk 70 ehvj dh “k#vkr nrk g]
fdruh ngh 1wk dku nkM €hrxkd

(a) 30m, A

(b) 200m, B

(c) 130m, B

(d) The race finishes in a dead heat

In a 1400 m race John reaches the finish point
in 1 min 6 sec, while James reaches the finish
point in 77 sec. By how much distance does
John beat James?

1400 m dh nkM e tku 1 feuV 6 Id.M e vr fcin
rd igprk g] tcfd tEl 77 Id.M e vr fcin rd
igprk gt thku] €El dk fdruh njh 1 gjkrk g\

SSC Phase X 03/08/2022 (Shift- 02)
(a) 240 m (b) 220 m
(c) 180 m (d) 200 m
A can run 1 km in 4 min, and B can cover

the same distance in 4 min 10 sec. By what
distance can A beat B in a 1 km race?

A 4 feuV e 1 fdeh NkM Idrk g vkj B mruh gh
njh 4 ehVj 10 1dM e r; dj Idrk gh 1 fdeh dh
nkM e A, B dk fdruh njh T gjk Idrk g\

(a) 45 m (b) 40 m

(c) 35 m (d) 30 m

Amit and Beenu can cover a 400 m race in
44 seconds and 50 seconds, respectively.
When Amit finished the race, then Beenu is
at what distance from the finishing line?

vier vkj chu 400 ehvj dh nkM Qe 44 1dM
vkj 50 IdM e 1jh dj Idr gh tc vfer nkM ijh
dj yrk g] rk chu Bekiu j[kk I fdruh nj gkrh g\

Aditya Ranjan (Excise Inspector)
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14.

15.

16.

17.

18.

(a) 50 m (b) 52 m
(c) 48 m (d) 45 m
In a 400-metre race, A runs at a speed of 16
m/sec. If A gives B a start of 15 metres and
still beats him by 10 sec, then what is the
speed of B?
400 eflVj dh nkM e] A 16 elvjeldM di pky 1
nkMrk gh ;fn A, B dk 15 etVj dh “k#vkr nrk g
vkj filj Ho ml 10 1dM 1 gjk nrk g] rk B db
pky D;k g\

SSC CGL 02/12/2022 (Shift- 02)
(a) 11 m/sec (b) 10 m/sec
(c) 13 m/sec (d) 9 m/sec
In a 100 m race, A runs at 6 km/hr. If A gives

B a start of 8 m and still beats him by 9
seconds, what is the speed of B?

100 elvj dh nkM e A 6 fdeh@%Vk dh xfr T nkMrk
gh ;fn A, B dk 8 feuv dh “kzwvkr nrk g wvkj fi{j
Ha og 9 IdM I gjk nrk g] rk B dh xfr D;k g\

(a) 4.6 km/hr (b) 4.8 km/hr

(c) 5.2 km/hr (d) 5.4 km/hr

In a 300 m race A runs at a speed of 9 km/hr.

He gives a start of 30 m to B and still defeats
him by 15 sec. What is the speed of B?

300 envy dh nkM e A 9 fdel@%Vk dh xfrr I nkMrk gh
og B dk 30 efvj igy niMu db nVinrk g vij ml
filj Ho 15 1AM 1 gjk nrk gkeB dbxfr fdruh g\

(a) 6.3 km/hr (b) 8.1 km/hr

(c) 7.2 km/hr (d) 8 km/hr

A’s speed is 30% more than that of B. If A
and B run a race on a 117 m length race, what
part of the length of the race should A give
B as a head start, so that the race ends in a
dead heat?

A dh pky B di pky 1 30» vi/d gh :fn A Vij
B, 17 ehlVj ych nkM yxkr g] rk A dk nkM db
yckb dk fdruk Hkx.B'dk "kawkrh c<r d i e
nuk pkfg,] rkfd nkM cjkcyh 1j lekir gk 1d\

(a) 90 m (b) 117 m

(c) 27 m (d) 36 m

In a race of senior citizens, Mr. A can give his
friend Mr. B a start of 20 m and Mr. C a start
of 39 m in a race of 100 m. How much start
can Mr. B give Mr. C in a 100 m race?

ofj"B ukxfjdk dh 100 efVj dh niM e Jheku A viu
nilr A Jheku B dk 20 ehVj wvkj Jheku © dk 39
elVj dh c<r nr gi Jheku B, Jheku c dk 100 efvj
dh nkM e fdru etVj dh c<r nx\

(a) 10 m (b) 15 m

(c) 18 m (d) 23.75 m

19.

20.

21.

22.

In a 1500 m race, if vehicle P gives vehicle
Q a start of 200 m, then vehicle P wins the
race by 8 sec. Alternatively, if vehicle P gives
vehicle Q a start of 400 m, the race ends in
a dead heat. How long does vehicle P take to
run 1500 m?
1500 m dh jl e] ;fn okgu P okgu Q dk 200
m dh c<r nrk g] rk okgu p, 8 1d.M jI tir
thrk gh bld foijhr] ;fn okgu P okgu Q dk 400
m dh c<r nrk g] rk j1 cjkcjh 1 Deklr gkrh gh
okgu P dk 1500 m pyu e fdruk le; yxrk g\
SSC CGL 07/12/2022 (Shift- 01)
(a) 44 sec (b) 45 sec
(c) 40 sec (d) 60 sec
In a 200m race, if a gives B a start of 25
meters, then A wins the race by 10 seconds.
Alternately, if A gives B a start of 45 meters
the race ends in a dead heat. How long does
A take to run 200 m?
200 elVj'dh nkM e] :fn A, B dk 25 elvj db
"kzwvkr nrk g] rk A 10 IdM 1 nkM thr tkrk gA
odfYid 1 1] ;fn A, B dk 45 elVj dh “kzwvir
nrk g . rk nkM MM giv e lekir gk tkrh gi A dk
200 enVj nkMu e fdruk le; yxrk g\

(a) 77.5 sec (b) 122.5 sec
(c) 32.5 sec (d) 22.5 sec

In a 1000 m race, Arjun, Balaji and Charan
are running. Arjun beats Balaji by 100 m, and
Balaji beats Charan by 100 m. In the next
1000 m race (the speeds are the same as in
the previous), Balaji gives Charan a head start
of 100 m, and Arjun gives Balaji a head start
of 100 m. Find the distance by which the
winner is ahead of the person just behind him.
1000 m dh nkM e wvtu] ckykth vkj pj.k nkM
Jjg gh vtu u ckykth dk 100 m 1 vkj ckykth u
pj.k dk 100 m 1 gjk;4 vxyh 1000 m nkM e
(xfr fiNy dh rjg gh g) ckyktl] pj.k dk 100
m dh “k#Evkr nr gh vkj vtu] ckykth dk 100
m dh "k#vkr nr gh og njh Kkr dift,i fell
fotrk Bhid 1IN oky 0;fDr 1 wkx gh

SSC CGL 13/12/2022 (Shift- 01)
(a) 100 m (b) 40 m
(c) 30 m (d) 20 m

A can beat B ina 100-metre race by 10 metres.
B can beat C in a 100-metre race by 10 metres.
What is the ratio (t, : t, : t ), which are the
respective times taken by A, B and C to
complete the race?

Aditya Ranjan (Excise Inspector)
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23.

24.

A 100 ehVj dh nkM e B dk 10 efvj I gjk Idrk g
B 100 efVj dh niM e c dk 10 efvj I gjk Idrk g
vuikr (¢, : t; = t) D3k g] & nM dk 1jk dju d
fy, A, BVkj € Jjk fy;k x;k Ict/r le; g\

SSC MTS 07/07/2022 (Shift- 1)
(a) 100:90: 81 (b) 90 : 81 : 100
(c) 100 : 81 : 90 (d) 81 : 90 : 100
Priya can run 250 m in 15 seconds and Payal
in 20 seconds. How many meters start can

Priya give to Payal in one km race so that the
race may end in a dead-heat?

fc:k 15 1dM e 250 efVj vij ik;y 20 IdM e 250
elVj nkv Idrh gh fc;k ,d fdeh dh nkM e 1k;y dk
fdru etVj rd 1gy niMu dk volj n Idrh g rkfd
;g NkM cjkejh 1j lekir g\
(a) 100 m (b) 250 m
(c) 150 m (d) 50 m
In a linear race of 1000 m, A beats B by 50
m or 5 seconds. What is the difference between
the speeds (in m/s) of A and B?
1000 m dh jf[kd niM e A, B dk 50 m ;k 5
IdM I gjk nrk gt A vkj B di pky (m/se) d
chp fdruk vrj g\

SSC CGL 06/12/2022 (Shift- 03)

25.

(a) 175
b) 7o

(c) IT)

(d) 10

A and B run 1 km and A wins by 25 second. A
and C run 1 km and A wins by 275 metre.
When B and C run the same distance, B wins
by 30 sdeconds. The time taken by A to run 1
km is :

A Vi B, 1 fdeh niMr. g vk} A 25 IdM 1 tir
thrk gh A Vvkj c A4 fdeh niMr g vkj A, 275 ehVj
I thrrk gt tc B v c lekw njh nMr g] B, 30
Idv 1 thr_tkrk gh A dk 1 fdeh nkMu e yxu okyk
le; gt

(a) 2 min 25 sec

(b) 2 min 50 sec

(c) 3 min 20 sec

(d) 3 min 30 sec

1.d) | 2.(a) 3.(d) 4.(d) 5.(c) 6.2 | 7.0) | 8.0) | 9.() 10.(c)
11.d) | 12.(b) | 18.(c) | 14.(2) | 15.0) | 16.(c) | 17.(c) | 18.d) | 19.(0) | 20.(a)
21.(d) | 22.(d) | 28.b) | 24.(b) | 25.(a)

Aditya Ranjan (Excise Inspector)
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